‘M«wu “\‘5’] Summaury D@’[édnmclwzs—%r Grmp]ninﬂ A Line

 Metfrodh |1 Plot x-intercept, Plot y-intercept
(T Use. if bolh He xAnferceprand y-intercest are |
T T find x-intercept, Sel y=0, SoNe for x.

To Hnd y—im-Ferce,ho’}'/ Set x=0, Solve Fov Y-

wd—aﬁéfs ,

X—irrr 1 2X=6

”Eﬁ(amp\e'. ‘Q\x_+35:6 ‘ o )
| | x=32 — (3,0)

Y

y—"‘W\']'%_ Y= & =
- Usethis metfiod 1 o y=a o (0,2
Yhe constant (6) can e

evenly diided by either CoeF-pi_c:;i—erﬂ' (2. 0r 3, .

S pPP

Me%o& 2'.. Plot \/-—M’r@kcﬁp—lﬁ,. Use S\qg_@_‘ | _
Use ¥ e \/ti\fﬁes’cep% 5 an m-l'eﬁer)

- Wride H’ne, ﬂCiLLO:HOr\ 11%) Slo.\x,—_- inde roeﬁ)-\'—%jpm C\/:IMX‘\—)O>-
' A3

~ down 2

 Example: 2x+3y=9
| 2

- 2% — 2K

ko xercaph is nob:

I

o)
r-\‘ 3\»31'.3

Y

~ —ax+9 -
() _?3% “AX o

> 3 Y
Y= 2 3 — slbpe=—2__.

e =(03) |

T

Method 30 Plobx—intercept; Use slope. ..

- Use i the x-intercept is an integer,
To find x-intercept, set y=0, Solve for X,
Write 'ED]"W&'IOV\ W 5\.09&_{1/1-\—6;('6—&(3\' $orm Cy =M

| Example: 2x4+By=4 b 26=4.

Ve

BBy =

N et

(...
bt e y-inberceph is ot
NEER W

(zzo) ; 3




 Method 4: Plot any poiv, use slope
Use 1f neither-Hie x— \n—FerceP-}- o Hhe y—m+erc.ep+ {s an m+-e8er

Write Hae equetion in slope—inrercepy forr (y=mx+b).
S Make a chard- . x4

i

2 5%’ P work onthe chard when you Lind
3 . one pany () where both coordinedtes
are. \vr\-eﬂe,rs

Exmdole: Q_x-‘_}_ By = 7{—

2y = T2x
3 2 3
Y= —2x+T = slepe.
| 5. m=—Z
_ {7 x=1: ‘2(\)-\—33-:_—‘7 i _
A o — -
(:\ ,%2‘ G (j'—'—% ~keep geing
e ; ciownl,. :/ — A X:’-—'—Z 2(2)+%y-::7
- Y \ | -4 —
Wight3 Ny 2y =32

 Method B P|o'|’a,lr\l4-+u,a pom+s

Use £ neither the x-intercept nor %e \/—1 vvl'ercqo—}— (s an mJ—Eﬁer
Make a chact x4

s 5’er work on -H’ne clmsumt wheh ywu e
2 —Fm,oi ‘w0 poivits Cx,@ where. bo—H%
3 Cooydinates are indegers, P
Emele' 9~X+3xﬁ~ |
e ')‘5/3 ' S
2|1 - (2,) -]
3 J{a o
H1™2 "
5l = (5 -—D !




